26

B 3L & b #A R K2
T NRBEFEOFEH = s ZFREL2 A B4 ER
AT IEZFRTEIRALTIE A
Fof FEMB (—) H3tE R
%—BR #£-—7

ERFR
LAKAEL 1048 5104 > By 100 4
2HARARSE  FARBIAEE » R d) A o
3AMERHALLERAZEEMNAEE - FARTHL -

Z(-a)
Zi095 =1.645 7 2051 F1.96 7 200105 =2 0 21099y =2.326 7 Zg 095 =2.576

1 1
—CBAACBIFH - M= PB)=S

1. % A-BABLEMH > B4R EPAB) =2 (5%)
2. % ACB s Bl E PAB) =2 (5%)

= B E B M A 1»&1'&$4$1‘)%}7‘¢‘1§ B R R TARAR R AT 2R 0
— T BAAR R R o 4%{%%59‘3#&!? B—RBIBRRZI T REFRAES
koo DRRIATFE 01%MEEEFILE - 4 —XRFEW SR ELRES
ok RIS REET BRI E BT

Z s BEBASSERET LR B L1558 100 F T 0 42 F 500 5T 0 3] 6 B IR AT 4N
A B 150 71 0 ARIES 45 40 > ﬁjf‘“é‘)#&$%—m REHE—1RP R3]
A e ERE1E -

m B ES X 2 RE S EA p()=23) 0 1=123 0 KX e84 Rk
M ()=7

Fo

Mg

s\

e AR E X £ pdf B f(0)= {

Edo— BB =305 A 4 2 B4 B UMM AR P X, X, k2 - 20
18 E(X,)=9, E(X,)=4 » % & # Var( X, )=8, Var( X, )=3 » £ 8 £ $ Cov (X, , X,)=1 »
Bl T=4X,+5X, » £

1.T 48 E(T)=2 (5%)

2. T t4% &% Var(T)=2 (5%)

c(x*+x), 0<x<1
0 , H AL

W EG AT 10 Feds H om0 £
.«—;ﬁ,@«? AW 1S peFeh i % o (59)
2. 100 {8 48 B) AR 0L & a2 Fo [ 1200 /N eFeg i & o G2 BE ) (5%)

TESG LI 4488 X%ié%ﬁl&k {gE B Y R4L AR H
RERGESAR > —HOBOHRE S BT

X Y [vy=1{y=2

X =1 0.210.1
X =2 0.1103
X=3 01102

£ 1LPX>Y)=?2(5%)
2. X th A E E(X)=2 (5%)

v 3RA 100 HE L g & (x, )i =12,---,100 6938 F B4 BRA(x )Foes 4 27(y,)

100 100

&3 5 & /\FJIJ)%x—LZx =160cm - y—mZy —165cm « HOEH T

f%(x -x)* =80 cm /%(y, ) =75cm \/%(x -x)(y,—y)=60cm >

*+;?¢t100 B4 & 3 eh 48 Bttt - (596)
LR HREAS 100 EERY y Hrzag R - (5%)

CAEEMBEBERITEMAOERE kIR 64 B L BREMNEXRTHITEN

20 8 R E R 0.8 N8 o
LRSS 4 BRI TR 5% EHE M - (5%)
2. =001 FREKET » TUURS AR RIT TN AR 2 1855 2 (5%)





